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[1]  worEtzmzisn,
(1) x2=16 (2) 4x*=16
(3) 5x2—15=0 (4) (x—4)2=20
2] worEtEmxis,
(1) (x—5)(x+3)=0 (2) (x—7)*=0
(3) x24+3x+2=0 4) x*4+2x—15=0

(5) x2—7x=0

(7) 3x2—3x—60=0

3]  worERzmEss,

(1) x*+3x+1=5x+4

(3) x2+5x+1=0

x2—16x+64=0

4x2+16x—48=0

(x+1)(x+6)=2(7x—2)

6x2+x—1=0
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(2) fERADREDR S ZRDR S,
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(1) x=+4 (2) x=+2 (3) x=+3 (4) x=4%2/5
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(1) x=—3, 5 (2) x=7 (8 x=—2, —1
4) x=-—5, 3 (5) x=o0, 7 6) x=8
(7) x=—4, 5 (8 x=-—86, 2
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1) x=-1, 3 (2 x=2, 5 (3) :—*Siz‘/z_l
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4) x= 5 3
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a=—1, HI1ODfF - —1
(455X 2)
(1) x(2x—4)=126
(2) 9m

(23] 2) () ToOL o7 FRXAEM &, x=—7, 9
XITIEDEENS, x=—71FXREICH b7,
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P, Q33 LT bxf it O AAPQOD I,
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> X2xX(12—x)=127

INnEfEL L, x=3, 9
O=X=127200, x=3bx=9bLBEIZH - TV 5,
3%, 9%



(104%)
WHIRA/NS W EXxET A E, T 53008 HIL, x, x+1, xt2L72 0,
X2+ (x+1)2+ (x+2)>°=5(x+1)
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